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I. Продолжаем тему «Страдательный залог» (если забыли, посмотреть видео прошлого урока), затем выполнить упражнения:
1. Open the brackets using Present, Past или Future Simple Passive:
1. My question (to answer) yesterday.
2. Hockey (to play) in winter.
3. Mushrooms (to gather) in autumn.
4. Many houses (to burn) during the Great Fire of London.
5. His new book (to finish) next year.
6. Flowers (to sell) in shops and in the streets.
7. St. Petersburg (to found) in 1703.
8. Bread (to eat) every day.
9. The letter (to receive) yesterday.
10. Nick (to send) to Moscow next week.

2. Complete the sentences with the correct passive form.
1) The injured man ____________ (take) to hospital after the crash.
2) The flat ______________ (clean) before we arrived.
3) The car accident _______________ (can/cause) by a driver using a mobile phone.
4) Because of the delay, lunch ______________ (give) to all the passengers in 10 minutes.

3. Rewrite the sentences using the passive voice.
1 A painter is drawing John’s portrait. 
2 An architect from London has designed my flat in Moscow.
3 Steven`s father will fix his bike.
4 The doctor examined Jennifer’s leg yesterday.

II. The Causative (Каузативная форма)
have + прямое дополнение + 3я форма глагола



I cut my hair. (Я подстригла волосы) активный (действительный залог)
I have my hair cut. (Мне подстригли волосы. досл. Я имею волосы подстриженными.) каузативная форма (страдательный залог)
1. Грамматический справочник с. GR13 – познакомиться с примерами.
2. учебник с. 95 упр. 6, 7 по образцу

III. Вопросительные слова + ever
ever добавляется к вопросительным словам в значении «любой»
whatever – чтобы ни
whenever – когда бы
wherever – когда либо
whoever – все кто, тот кто (о людях)
whichever – всё что, любой (о предметах)
however -  в любом случае, (однако)

учебник с. 95 упр. 8,
РТ с. 56 упр. 2
